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TITLE OF PAPER: INDIRECT TECHNIQUES FOR DEMOGRAPHIC
ESTIMATION

CORSE NUMBER: DEM 303

TIME ALLOWED: 3 HOURS

INSTRUCTIONS: ANSWER ANY FOUR QUESTIONS. ALL QUESTIONS ARE
WORTH 20 MARKS EACH.

REQUIREMENTS: CALCULATOR

THIS PAPER SHOULD NOT BE OPENED UNTIL PERMISSION HAS BEEN
GIVEN BY THE INVIGILATOR




Question 1

a) Discuss the importance of indirect estimation in demography. Elaborate your
answer with an example. (4)

b) Describe briefly the characteristics of each region (family) of the Coale and
Demeny regional model life tables. (12)

¢) Describe how you would select a model life table from the Coale and Demeny
regional model life tables to use in specific demographic estimation.(4)

Question 2

a) What are the assumptions of the Widowhood method? (4)
b)
¢) What data are required to make use of the widowhood method? (4)

d) Outline the computational procedure for estimating the conditional female
survivorship probabilities using the widowhood method. (12)

Question 3
a) Outline two uses of stable populations. (4)

b) What are the characteristics of a stable population? (6)

¢) Without performing any mathematical derivation, show the formulas (with
explanations) that can be used to estimate the following parameters of a stable
population:
i.  intrinsic birth rate (2)
il.  proportion of a stable population at age x —C(x) (2)
iii.  intrinsic rate of growth (2)

Question 4

a) What are the assumptions of the Brass method for estimating childhood mortality
using information from women on the proportion of children dead? (5)

b) You are given the data below on average parity per woman and proportion of
children dead classified by age group of women. Using Trussel’s variant of the
Brass method, calculate g(2) and g(3). (10)




Age group i Average parity Proportion dead
15-19 1 0.156 0.0959
20-24 2 1.326 - 0.1218
25-29 3 2.765 0.1485
You may find the following information useful:

i a(i) b(i) c(1)

1 1.0819 -3.0005 0.8689

2 1.2846 -0.6181 -0.3024

3 1.2223 0.0851 -0.4704

c) What are the limitations of the above method? (5)

Question 5
a) Find the value of 1; corrsponding to level 14.6 in the female South model.(4)
b) Find the value of 15 corresponding to level 13.7 in the female North model. (4)

c) Assuming that the CD South female model is applicable in a certain population,
estimate the decline in child mortality when the level changes from 10 to 12. (6)

d) What is the probability of a male surviving to age 5 in a population whose

probability of surviving to age 1 is 0.84? Assume that the pattern of mortality in
the given population resembles the CD South model. (6)

Question 6
a) Compare and contrast the P/F ratio method and the P/F, method. (10)
b) Compare and contrast the method for estimating lmortality using period data based

on one census/survey with that of using hypothetical cohort data based on two
censuses/surveys. (10)
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Clmpler 3. Uses of the Tubles
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